Errata to Radar and Laser Cross Section Engineering, Third Edition

below

Location Reads as: | Should read as:

p. 100, Prob. 2.2 Leading minus sign missing in the equation of part (b)

p. 100, Prob. 2.3 In the problem statement let § = 45° as shown in Fig. P2.3

p. 133, Eq. (3.80) E; (555 E; (7St

p. 196, Eq. (4.94) o o,

p. 284, Prob. 5.2 .. by’ ... by [5]

p. 288, Prob. 5.10 A=(ap—og)N A=(ar—ay)/ N

p. 345, Fig. 6.47 Zp is the resonant wavelength

p. 360, Eq. (6.111) Equation number is not right justified.

p. 367, Fig. 6.63 The caption should specify Azimuth RCS.

p- 369, footnote ... accurately modelled.) ... accurately modelled.
p- 378, Fig. 7.1, axis label Path length (m) Plate length (m)

p- 451, Eq. (8.3) (4L)? / A and 320 m in the line 417 / 2 and 80 m in the line below

p. 466, bullet 2 and table
footnote, also index entry
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